Math 1172 - Autumn 2015 .Name:

Quiz 7 - In Class Recitation Instructor:

SHOW ALL WORK!!! Unsupported answers might not receive full credit.

Problem 1 [6 pts] A parametric representation for a certain curve is given by:

:c(t) = 2sint
y(t) =1-2cost

a) [2 pts| Eliminate the parameter to find a description of the curve in terms of z,y.
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b) [2 pts] Sketch the curve and indicate the positive orientation.
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¢) [2 pts] Find the slope of the tangent line to the curve when ¢t = —g
X4)= zest ,  X(§)= 2 f =2 F
Y ()= 2sint y’(%) z Q.IZ_ = 2
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y~(-2)= 1 (x<Jz) -
or 4= X-J2 +1-J3 o Y= xtl-1Z



